

# SOLUZIONE

$$\textcircled{1} \textcircled{a} \quad y'(x) - 4y(x) = e^{-3x} h(x)$$

$$\mathcal{F}\{y'(x) - 4y(x)\} = \mathcal{F}\{e^{-3x} h(x)\}$$

$$\mathcal{F}\{y'(x)\} - 4\mathcal{F}\{y(x)\} = F(k)$$

$$ikY(k) - 4Y(k) = F(k) \rightarrow (ik - 4)Y(k) = F(k)$$

$$\rightarrow Y(k) = \frac{F(k)}{ik - 4} = F(k)G(k), \text{ con } G(k) = \frac{1}{ik - 4}$$

$$y(x) = \mathcal{F}^{-1}\{Y(k)\} = \mathcal{F}^{-1}\{F(k) \cdot G(k)\} = \mathcal{F}^{-1}\{e^{-3x} h(x)\} * \mathcal{F}^{-1}\{G(k)\}$$

$$\mathcal{F}^{-1}\left\{\frac{1}{ik - 4}\right\} = -\mathcal{F}^{-1}\left\{\frac{1}{4 - ik}\right\} = -e^{4x} h(-x)$$

$$y(x) = [e^{-3x} h(x)] * [-e^{4x} h(-x)] =$$

$$= - \int_{-\infty}^{\infty} [e^{-3(x-y)} h(x-y)] \cdot [e^{4y} h(-y)] dy =$$

$$h(-y) = \begin{cases} 1 & y \leq 0 \\ 0 & y > 0 \end{cases}$$

$$= - \int_{-\infty}^0 e^{-3(x-y)} e^{4y} h(x-y) dy =$$

$$h(x-y) = \begin{cases} 1 & x \geq y \\ 0 & x < y \end{cases}$$

$$= \begin{cases} - \int_{-\infty}^x e^{-3(x-y)} e^{4y} dy & x \leq 0 \\ - \int_{-\infty}^0 e^{-3(x-y)} e^{4y} dy & x > 0 \end{cases}$$

$$= \begin{cases} -e^{-3x} \left[ \frac{e^{7x}}{7} \right]_{-\infty}^x & x \leq 0 \\ -e^{-3x} \left[ \frac{e^{2y}}{2} \right]_0^{-\infty} & x > 0 \end{cases}$$

$$= \begin{cases} -\frac{1}{7} e^{-3x} (e^{7x} - 0) = -\frac{1}{7} e^{4x} & x \leq 0 \\ -\frac{1}{7} e^{-3x} (1 - 0) = -\frac{1}{7} e^{-3x} & x > 0 \end{cases}$$

$$= -\frac{1}{7} e^{4x} H(-x) - \frac{1}{7} e^{-3x} H(x)$$

①⑥  $2y'' - y = H(x+3) - H(x-4)$

$$\mathcal{F}\{2y'' - y\} = \mathcal{F}\{H(x+3) - H(x-4)\}$$

$$2\mathcal{F}\{y''\} - \mathcal{F}\{y\} = F(k) \rightarrow 2(k^2)Y(k) - Y(k) = F(k)$$

$$\rightarrow -2k^2 Y(k) - Y(k) = F(k) \Rightarrow (-2k^2 - 1)Y(k) = F(k)$$

$$\rightarrow Y(k) = -\frac{F(k)}{2k^2 + 1} = -F(k)G(k), \text{ con } G(k) = \frac{1}{2k^2 + 1}$$

$$y(x) = \mathcal{F}^{-1}\{Y(k)\} = \mathcal{F}^{-1}\{F(k) \cdot G(k)\} = -\mathcal{F}^{-1}\{F(k)\} * \mathcal{F}^{-1}\{G(k)\}$$

$$\mathcal{F}^{-1}\left\{\frac{1}{2k^2 + 1}\right\} = \frac{1}{2} \mathcal{F}^{-1}\left\{\frac{1}{k^2 + \frac{1}{2}}\right\} = \frac{1}{2} \cdot \frac{\sqrt{2}}{2} \mathcal{F}^{-1}\left\{\frac{\frac{2}{\sqrt{2}}}{k^2 + \frac{1}{2}}\right\} = \frac{\sqrt{2}}{4} e^{-\frac{|x|}{\sqrt{2}}}$$

$$y(x) = -[H(x+3) - H(x-4)] * \left[\frac{\sqrt{2}}{4} e^{-\frac{|x|}{\sqrt{2}}}\right] =$$

$$= -\frac{\sqrt{2}}{4} \int_{-\infty}^{\infty} [H(y+3) - H(y-4)] \cdot [e^{-\frac{|x-y|}{\sqrt{2}}}] dy =$$

$$= -\frac{\sqrt{2}}{4} \int_{-3}^4 e^{-\frac{|x-y|}{\sqrt{2}}} dy =$$

$$H(y+3) - H(y-4) = \begin{cases} 1 & -3 \leq y < 4 \\ 0 & \text{otherwise} \end{cases}$$

$$|x-y| = \begin{cases} x-y & x \geq y \\ y-x & x < y \end{cases}$$

$$= \begin{cases} -\frac{\sqrt{2}}{4} \int_{-3}^4 e^{-\frac{1}{\sqrt{2}}(y-x)} dy & x \leq -3 \end{cases}$$

$$= \begin{cases} -\frac{\sqrt{2}}{4} \int_{-3}^x e^{-\frac{1}{\sqrt{2}}(x-y)} dy - \frac{\sqrt{2}}{4} \int_x^4 e^{-\frac{1}{\sqrt{2}}(y-x)} dy & -3 < x < 4 \end{cases}$$

$$= \begin{cases} -\frac{\sqrt{2}}{4} \int_{-3}^4 e^{-\frac{1}{\sqrt{2}}(x-y)} dy & x \geq 4 \end{cases}$$

$$= \begin{cases} +\frac{\sqrt{2}}{4} e^{\frac{x}{\sqrt{2}}} \left[ \sqrt{2} e^{-\frac{y}{\sqrt{2}}} \right]_{-3}^4 = \frac{1}{2} e^{\frac{x}{\sqrt{2}}} \left( e^{-\frac{4}{\sqrt{2}}} - e^{-\frac{3}{\sqrt{2}}} \right) & x \leq -3 \end{cases}$$

$$= \begin{cases} -\frac{\sqrt{2}}{4} e^{-\frac{x}{\sqrt{2}}} \left[ \sqrt{2} e^{\frac{y}{\sqrt{2}}} \right]_{-3}^x + \frac{\sqrt{2}}{4} e^{\frac{x}{\sqrt{2}}} \left[ \sqrt{2} e^{-\frac{y}{\sqrt{2}}} \right]_x^4 & -3 < x < 4 \end{cases}$$

$$= \begin{cases} -\frac{\sqrt{2}}{4} e^{-\frac{x}{\sqrt{2}}} \left[ \sqrt{2} e^{\frac{y}{\sqrt{2}}} \right]_{-3}^4 = -\frac{1}{2} e^{-\frac{x}{\sqrt{2}}} \left( e^{\frac{4}{\sqrt{2}}} - e^{-\frac{3}{\sqrt{2}}} \right) & x \geq 4 \end{cases}$$

$$= \begin{cases} \frac{1}{2} \left( e^{\frac{1}{\sqrt{2}}(x-4)} - e^{\frac{1}{\sqrt{2}}(x+3)} \right) & x \leq -3 \end{cases}$$

$$= \begin{cases} -\frac{1}{2} e^{-\frac{x}{\sqrt{2}}} \left( e^{\frac{x}{\sqrt{2}}} - e^{-\frac{3}{\sqrt{2}}} \right) + \frac{1}{2} e^{\frac{x}{\sqrt{2}}} \left( e^{-\frac{4}{\sqrt{2}}} - e^{-\frac{x}{\sqrt{2}}} \right) & -3 < x < 4 \end{cases}$$

$$= \begin{cases} -\frac{1}{2} \left( e^{-\frac{1}{\sqrt{2}}(x-4)} - e^{-\frac{1}{\sqrt{2}}(x+3)} \right) & x \geq 4 \end{cases}$$

$$= \begin{cases} \frac{1}{2} \left( e^{\frac{1}{\sqrt{2}}(x-4)} - e^{\frac{1}{\sqrt{2}}(x+3)} \right) & x \leq -3 \end{cases}$$

$$= \begin{cases} -\frac{1}{2} \left( 1 - e^{-\frac{1}{\sqrt{2}}(x+3)} - e^{\frac{1}{\sqrt{2}}(x-4)} + 1 \right) = -\frac{1}{2} \left( 2 - e^{-\frac{1}{\sqrt{2}}(x+3)} - e^{\frac{1}{\sqrt{2}}(x-4)} \right) & -3 < x < 4 \end{cases}$$

$$= \begin{cases} -\frac{1}{2} \left( e^{-\frac{1}{\sqrt{2}}(x-4)} - e^{-\frac{1}{\sqrt{2}}(x+3)} \right) & x \geq 4 \end{cases}$$

$$\textcircled{1} \textcircled{c} \quad y'' + 6y' + 5y = \delta(x-3)$$

$$\mathcal{F}\{y''\} + 6\mathcal{F}\{y'\} + 5\mathcal{F}\{y\} = \mathcal{F}\{\delta(x-3)\}$$

$$(i\omega)^2 Y(\omega) + 6i\omega Y(\omega) + 5Y(\omega) = F(\omega)$$

$$F(\omega) = \mathcal{F}\{\delta(x-3)\} = e^{-3i\omega} \cdot 1 = e^{-3i\omega}$$

$$((i\omega)^2 + 6i\omega + 5)Y(\omega) = F(\omega)$$

$$\rightarrow Y(\omega) = \frac{e^{-3i\omega}}{(i\omega)^2 + 6i\omega + 5} = \frac{e^{-3i\omega}}{(i\omega + 5)(i\omega + 1)}$$

$$\mathcal{F}^{-1}\{Y(\omega)\} = \mathcal{F}^{-1}\left\{\frac{e^{-3i\omega}}{(i\omega + 5)(i\omega + 1)}\right\} \stackrel{\textcircled{2}}{\underset{x=3}{\rightarrow}} \mathcal{F}^{-1}\left\{\frac{1}{i\omega + 5} \cdot \frac{1}{i\omega + 1}\right\} =$$

$$= \mathcal{F}^{-1}\left\{\frac{1}{i\omega + 5}\right\} * \mathcal{F}^{-1}\left\{\frac{1}{i\omega + 1}\right\} = [e^{-5x} H(x)] * [e^{-x} H(x)] =$$

$$= \int_{-\infty}^{\infty} [e^{-5(x-y)} H(x-y)] \cdot [e^{-y} H(y)] dy =$$

$$= \int_0^{\infty} e^{-5(x-y)} e^{-y} H(x-y) dy =$$

$$= \begin{cases} 0 & x < 0 \\ \int_0^x e^{-5(x-y)} e^{-y} dy & x \geq 0 \end{cases}$$

$$H(y) = \begin{cases} 1 & y \geq 0 \\ 0 & y < 0 \end{cases}$$

$$H(x-y) = \begin{cases} 1 & x \geq y \\ 0 & x < y \end{cases}$$

$$= \begin{cases} 0 & x < 0 \\ e^{-sx} \left[ \frac{e^{4x}}{4} \right]_0^x = \frac{1}{4} e^{-sx} (e^{4x} - 1) = \frac{1}{4} (e^{-x} - e^{-5x}) & x \geq 0 \end{cases}$$

$$= \frac{1}{4} (e^{-x} - e^{-5x}) u(x)$$

prop ② with  $x_0 = 3$

$$y(x) = \frac{1}{4} (e^{-(x-3)} - e^{-5(x-3)}) u(x-3)$$

$$\textcircled{2} \textcircled{a} \mathcal{F}\{3(x-2)e^{-2|x-2|}\} = -24e^{-20k} \frac{ik}{(4+k^2)^2}$$

↓ ②  $x_0 = 2$

$$3 \mathcal{F}\{x e^{-2|x|}\} = i \left( \frac{12}{4+k^2} \right)' = 12i \frac{0-2k}{(4+k^2)^2} = -24 \frac{ik}{(4+k^2)^2}$$

↓ ③

$$3 \mathcal{F}\{e^{-2|x|}\} = 3 \cdot \frac{4}{4+k^2} = \frac{12}{4+k^2}$$

$$\textcircled{5} \mathcal{F}^{-1}\left\{9e^{-\frac{(k+4)^2}{4}}\right\} = \frac{9}{\sqrt{\pi}} e^{-4ix} e^{-x^2} = \frac{9}{\sqrt{\pi}} e^{-x(4i+x)}$$

↓ ③  $k_0 = -4$

$$9 \mathcal{F}^{-1}\left\{e^{-\frac{k^2}{4}}\right\} = \frac{9}{\sqrt{\pi}} \mathcal{F}^{-1}\left\{\sqrt{\pi} e^{-\frac{k^2}{4}}\right\} = \frac{9}{\sqrt{\pi}} e^{-x^2}$$

$$\textcircled{c} \mathcal{F} \left\{ (e^{-2x} H(x) \sin 4x) * \left( \frac{e^{4ix}}{3x^2+6} \right) \right\}$$

$$\downarrow \textcircled{10}$$

$$\mathcal{F} \left\{ e^{-2x} H(x) \sin 4x \right\} \cdot \mathcal{F} \left\{ \frac{e^{4ix}}{3x^2+6} \right\} = \textcircled{**}$$

$$\mathcal{F} \left\{ e^{-2x} H(x) \sin 4x \right\} = \frac{1}{2i} \left[ \frac{1}{2+i(k-4)} - \frac{1}{2+i(k+4)} \right]$$

$$\downarrow \textcircled{7} \quad k_0 = 4$$

$$\mathcal{F} \left\{ e^{-2x} H(x) \right\} = \frac{1}{2+i k}$$

$$\mathcal{F} \left\{ \frac{e^{4ix}}{3x^2+6} \right\} = \frac{\pi}{3\sqrt{2}} e^{-\sqrt{2}|-k-4|} = \frac{\pi}{3\sqrt{2}} e^{-\sqrt{2}|k-4|}$$

$$\downarrow \textcircled{3} \quad k_0 = 4$$

$$\mathcal{F} \left\{ \frac{1}{3x^2+6} \right\} = \frac{2\pi}{3\sqrt{2}} e^{-\sqrt{2}|-k|}$$

$$\downarrow \textcircled{5}$$

$$\mathcal{F}^{-1} \left\{ \frac{1}{3k^2+6} \right\} = \frac{1}{3} \mathcal{F}^{-1} \left\{ \frac{1}{k^2+2} \right\} = \frac{1}{6\sqrt{2}} \mathcal{F}^{-1} \left\{ \frac{2\sqrt{2}}{k^2+2} \right\} = \frac{1}{6\sqrt{2}} e^{-\sqrt{2}|x|}$$

$$\textcircled{**} = \frac{\pi}{6\sqrt{2}i} e^{-\sqrt{2}|k-4|} \left[ \frac{1}{2+i(k-4)} - \frac{1}{2+i(k+4)} \right]$$

$$\textcircled{d} [H(x+3) - H(x-4)] \cdot x \cdot e^{-|x|} =$$

$$= \int_{-\infty}^{\infty} [H(y+3) - H(y-4)] \cdot e^{-|x-y|} dy =$$

$$= \int_{-3}^4 e^{-|x-y|} dy =$$

$$= \begin{cases} \int_{-3}^4 e^{-(y-x)} dy & x \leq -3 \\ \int_{-3}^x e^{-(x-y)} dy + \int_x^4 e^{-(y-x)} dy & -3 < x < 4 \\ \int_{-3}^4 e^{-(x-y)} dy & x \geq 4 \end{cases}$$

$$= \begin{cases} e^x [-e^{-y}]_{-3}^4 & x \leq -3 \\ e^x [e^y]_{-3}^x + e^x [-e^{-y}]_x^4 & -3 < x < 4 \\ e^{-x} [e^y]_{-3}^4 & x \geq 4 \end{cases}$$

$$= \begin{cases} e^x (e^{-4} - e^{-3}) = -e^{x-4} + e^{x+3} & x \leq -3 \\ e^{-x} (e^x - e^{-3}) - e^x (e^{-4} - e^{-x}) & -3 < x < 4 \\ e^{-x} (e^4 - e^{-3}) = e^{-(x-4)} - e^{-(x+3)} & x \geq 4 \end{cases}$$

$$= \begin{cases} -e^{x-4} + e^{x+3} & x \leq -3 \\ 1 - e^{-(x+3)} - e^{x-4} + 1 = 2 - e^{-(x+3)} - e^{x-4} & -3 < x < 4 \\ e^{-(x-4)} - e^{-(x+3)} & x \geq 4 \end{cases}$$

$$\textcircled{e} \mathcal{F}^{-1} \left\{ \frac{e^{-2ik}}{k^2 - 4k + 7} \right\} = \frac{1}{2\sqrt{3}} e^{2i(x-2)} e^{-\sqrt{3}|x-2|}$$

$$\downarrow \textcircled{2} \quad x_0 = 2$$

$$\mathcal{F}^{-1} \left\{ \frac{1}{k^2 - 4k + 7} \right\} = \mathcal{F}^{-1} \left\{ \frac{1}{(k-2)^2 + 3} \right\} = \frac{1}{2\sqrt{3}} e^{2ix} e^{-\sqrt{3}|x|}$$

$$\downarrow \textcircled{3} \quad k_0 = 2$$

$$\mathcal{F}^{-1} \left\{ \frac{1}{k^2 + 3} \right\} = \frac{1}{2\sqrt{3}} \mathcal{F}^{-1} \left\{ \frac{2\sqrt{3}}{k^2 + 3} \right\} = \frac{1}{2\sqrt{3}} e^{-\sqrt{3}|x|}$$